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Star Trees

(10 points)
Time Limit : 1 second

Memory Limit : 512 MB

Description
Christmas is almost here! Thomas, Omelet, Joy and Eden came to the Christmas City.

As soon as you walk out of the train station, in addition to the crowded crowd, there is a row of Christmas
trees full of stars! There are many stars on each tree, and curious Eden wants to know, for each %, how many
stars are on the first ¢ trees starting from the left.

When he finally finished the calculation, Thomas asked him: Do you know how many stars there are in total
between the [ tree and the 7 tree?

Just when Eden was about to start counting again, the clever Omelet jumped out, looked at the calculation
process that Eden had just done, and gave the answer directly! Thomas asked hundreds of times in a row,
and Omelet could answer immediately.

Do you know how Omelet did it? Please help Eden figure out the answer to his question first, then try to
imitate Omelet to quickly answer Thomas' question!

Input Format

The first line of input has an integer N, representing a total of N Christmas trees.
The second line has N integers a; representing the number of stars in the ¢ th tree from left to right.
The third line has an integer @), which means that Thomas asked () questions.

From line 4 to line @ + 3, each line has two integers [, 7, representing that Thomas wants to know how
many stars are there between [ th tree and 7 th tree (including [, 7).

Output Format

Output NN integers on the first line, the 7 th number represents the total number of stars on the first ¢ trees
starting from the left.

For each line from line 2 to line () + 1, output an integer representing the answer to Thomas's question.

Constraints
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1 < N,Q < 500000
1 <a; <100

1<I<r<N

Data Examples

Input Example 1
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Output Example 1
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7
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Input Example 2

Output Example 2
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7

Input Example 3
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Output Example 3

99 198 297 396 495 594
99
198
198
594

Example Explanation

In input example 1, the total number of stars on the first 1, 2, 3, 4 trees starting from the leftis 3,7,12,14
respectively.

There are 7 stars between trees 3 to 4.
There are 12 stars between trees 1 to 3.

In input example 2, the total number of stars on the first 1, 2, 3 trees from the left is 3, 13, and20,
respectively.

There are 20 stars between trees 1 to 3.
There are 7 stars between trees 3 to 3.

In input example 3, the total number of stars on the first 1, 2, 3, 4, 5, 6 trees from the left is
99,198,297, 396, 495, 594 respectively.

There are 99 stars between trees 1 to 1.
There are 198 stars between trees 3 to 4.
There are 198 stars between trees 5 to 6.

There are 594 stars between trees 1 to 6.
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